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1) If m<3= Bx+6 any m<9=-x-2; Find Th?w{for x; find m<3 and m<12
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2) If m«15= 3x+7 and m<6=2x+8; Find the value for x; find m<15 and m<8
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3) If m<3=2x+16 and m<15= 7x-4. Find the value for x; find m<3 and m<13
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4) Tf m<4=8x-80 and m« 15=-2x+116. Find the value for x; find m<4 and m«16

1/f £ 8 x_90 - 2x +11G = 3"

3/ 4)

T
Zé/ T S QJS:‘ "’q @:@
§m<§ 2 8(24) - 3°‘D

5) m<l(p—llj

¥ 9y 4134 47 +3x =(86°

5x + 60 =1(80°
—60 —6o

"5x;/20 [x;zgj

x 5(;2 L/) 5(7 9~3 C@(fe.é’lbdncl/y /lz(xj/cs

7 = 5J A3 ﬁ,//cf_)

6) Given: £10= 49
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F—Tnd X and y
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Find X and Y
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